[ Efficiency vs vertpos |
~ 0.2

20.18F
g o
20.16F
U -
$0.14F
O
£0.12
0.1F
0.08F
0.06F
0.04F
0.02

1.0

Ratio

=

A

0.95 : :
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_TT__ORIGINAL
Efficiend —— poM_TT_ MODIFIED_propToPlane_PRVersionFINALG

~ 0.2
TIPE S R S

n r . . . . .
L S RRia it [ESE TR
> r . . . . N

8 - . . N N .
Lo S S
el T

=TURY, RS R R

] - . . . N

NN -
oo
0.06F 71 *+ -------- + Ll
0.04F -4 £l ++ ------ - i

0.02:—-.-+5- e
Ve A

Ratio

[y
TTTT] T
» o

-20 -10 0 10 20 30
TP vert z (cm)

o

13
oS
S

[ Efficiency vs. sim PV z |

o

=
T
i

0521510 -5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


